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Near Earth objects (NEOs) could kill us all.

NEOs are comets or asteroids or meteoroids that could collide 

with the Earth.  Meteoroids are less than 50 m across and 

would probably burn up in the atmosphere.  But asteroids are 

bigger, from 50 m up to 40 km (25 miles) across.

The number of NEOs over 1 km in diameter is thought to be 

over 1000.  A collision with one of these would devastate the 

Earth causing a huge ‘fallout’ (of dust and smoke thrown into 

the atmosphere) that would cause a global climate change, 

disrupting agriculture and causing mass starvation.  

Such an event 65 million years ago at Chicxulub in Mexico 

is thought to have killed off the dinosaurs and 75% of the 

species that were then on Earth.

More recently, in 1908, the Tunguska blast in Siberia was 

caused by as asteroid only about 50 m across.  It devastated 

800 square miles of countryside.  

There are over 200 000 NEOs of this size and such an event 

has a probability of happening about every 300 years.

The most important first step in protecting us is to survey 

with telescopes to find and track all the NEOs.

NASA has begun this task, and the SpaceGuard Project is 

coordinating it.  It may take several decades!

Once all the NEOs have been found and tracked then we 

would probably have several years warning to decide what 

to do about an NEO on a collision course.

Questions

1.
Explain carefully why meteoroids ‘burn up in the 
atmosphere’.

2.
If you have internet access, research the key words in bold 
above.  What is the most important thing that you find?

3.
Analyse and discuss the risks shown in the table.

4.
Suppose the 1908 Tunguska blast had occurred over London.  
Imagine and describe the probable consequences.

5.
Outline how a large asteroid impact in Mexico is thought 
to have killed dinosaurs all over the world.

6.
Suppose an NEO is detected on a collision course.  
The list below shows 3 methods to deflect it.  
Discuss the advantages and disadvantages of each one.

a)
Send a rocket with a huge nuclear bomb to blow up the NEO.

b)
Send a rocket and push the NEO sideways for several months.

c)
Construct a huge mirror in space and use the pressure of sunlight 
to push the NEO off course.

7.
Searching for NEOs is very costly.  Discuss whether or not we should do it.
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Near Earth objects (NEOs)





Formation of the Moon


The Moon is thought to have 


been formed by a collision.  


The collision was between 


the Earth and another planet, 


about 4500 million years ago.


The craters on the Moon are a 


record of the many collisions 


of asteroids since then.





Probable lifetime risk of dying by:�
�
Heart disease�
1 in 3�
�
Cancer�
1 in 4�
�
Traffic accident�
1 in 180�
�
Accidental poisoning�
1 in 600�
�
Fall on stairs�
1 in 700�
�
Fire�
1 in 1600�
�
Electrocution�
1 in 20 000�
�
Asteroid impact�
1 in 20 000�
�
Bitten by dog�
1 in 100 000�
�









Oxford University Press, ISBN 978-0-19-837571-5
GCSE Physics for You, 5th edition
© Keith Johnson & Sue Holt

